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QID : 101 - Select the related word/letters/number from the given alternatives.
Eccrinology : Secretions :: Cardiology : ?
&g 7Tq foenedt # @ Hefdq s/ s1eR/@@n &t gHgl

L = 1 R G 0 i o
Options:
1) Insects

2) Soil
3) Algae
Saret

4) Heart
&=

Correct Answer: Heart

Candidate Answer: Heart

QID : 102 - Select the related word/letters/number from the given alternatives.
CFl: XUR::GJM:?
&g 7Tq forenedt # @ Hefdq e/ s1eR/@@m &t gHgl

CFl: XUR::GJM:?
Options:

1) TRO

2) TQN

3) wQr

4) QWT

Correct Answer: TQN
Candidate Answer: TRO

QID : 103 - Select the related word iven alternatives.

BFJ: KOS ::KOS:?
g 77T faehedt & @ Geferq rea/S181R/S%eT &l

BFJ: KOS ::KOS:?
Options:

1) TXC

2) SXB

3) TXB

4) SXC

Correct Answer: TXB
Candidate Answer: TXB

QID : 104 - Select the related word/letters/number from the given alternatives.
24:36::52:7
&g Tq fenedt # @ Hefda e/ s1eR/ @ &t gHgl

24:36::52:7?
Options:

1)19

2) 70

3)49

4)78

Correct Answer: 78
Candidate Answer: 19

QID : 105 - Select the odd word/letters/number/number pair from the given alternatives.

g 7y femedt & @ farw <reg/srerR/Ovean/ g g &t gy



http://thepracticetest.in/cs_chsl/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=2201080809&scode=154&key=5696fd68207f14831481fbf959f78f52

Options:
1) Body
SRR

2) Nose
ATch

3) Eyes
EEl
4) Lips
&5

Correct Answer: Body
R

Candidate Answer: Body
SRR
QID : 106 - Select the odd word/letters/number/number pair from the given alternatives.

&g Tq forenedt # 9 fowm <reg/ s1eR/wEan/dear g &l gyl

Options:
1) BYCX

2) DWEV
3) GUHS

4) IRJQ
Correct Answer: GUHS
Candidate Answer: BYCX

QID : 107 - Select the odd word/letters/number/number pair from the given alternatives.

g Tq feremedl & & fawe e/ s1eR/ <Rean/ et g & gl

Options:
1)13

2)17
3)19

4) 21
Correct Answer: 21
Candidate Answer: 21

QID : 108 - Select the odd word/letters/number/number pair from the given a

g 1y fremedt & @ faw <reg/ s1erR/dvean/ % g &t gy

Options:
1) 25673

2) 34664
3) 42763

4) 25556
Correct Answer: 42763
Candidate Answer: 42763

QID : 109 - A series is given with one term miss ect alternative from the given ones that will complete the series.

DJO, EKP, FLQ, GMR, ?
Ter 3rgeRd foa man 8, fored § uan Ue i 61 g 1Y et & © ag 98t feen gfAg St srgehd Y g |

DJO, EKP, FLQ, GMR, ?
Options:

1) HOS

2) HNS

3) INS

4) DEF

Correct Answer: HNS
Candidate Answer: HNS

QID : 110 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
DEF, ?, OPQ, VWX
Tk 3rgehH e T &, forad @ ueh e e @1 oy 7Y frehedt & @ o wet e g, St 1A ol g

DEF, 7, OPQ, VWX
Options:

1) HIJ

2) GHI

3) IUK

4) IPV

Correct Answer: [JK
Candidate Answer: HIJ



QID : 111 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.
4,18,48,7,180
Te SigeRd fan maT 8, fore € e v g 81 Ry g faenedt # & a8 98t feey 9fFg, ST S1gehd &t Qi Rl

4,18, 48,7,180
Options:

1) 80

2) 100

3)105

4)125

Correct Answer: 100
Candidate Answer: 80

QID : 112 - In the following question, two statements are given each followed by two conclusions | and II. You have to consider the statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:
(1) Corruption has complete establishment in each sector of our country.
(I) Corruption has gone into their deep roots of every process and system.

Conclusion:
(1) People think about corruption in a routine way and not especially.
(I) The eradication of corruption depends upon every individual. No government can enforce rules or regulation on people.

ffefaa us 8, g wue Ry g & S omt &t fsendf | 3R 11 fRepret g &1 Simueh! AT @ 36 e 9 € 918 & I slmam’fﬁﬁau'cﬂasﬁéfl 3Mgent fufa e & ok g g
et & § @ a1/ @ AfYd T T wuat gRT 98} R S Genar 8/9%d €, afe i gl

DY
(1) YETaIR EAR 30 & U & | guid: w@nfia g1
(1) weTaR & ufshar ofk vomedt & Mg STg ST g 81

e
(1) @i et yETER Fafia Tat & $9 § orrar & 7 6 R Rdw su d |

(1) YETaR 1 I &R afth W AR oear &1 Al Wenr Fam a1 fRffam di w ey 72 o gt &1
Options:

1) Only conclusion Il follows
Faet s || Ay gtar &1

2) Conclusion I and Il both follow
freent | $fR || G141 AL g 81

3) Neither | nor Il follow

7 freendf | T & |l AR BT 81

4) Only conclusion | follows

had frsent | AR EaT &1

Correct Answer: Only conclusion | follows

Faet freny | Ay gl 81

Candidate Answer: Neither | nor Il follow

7 frsene | T & |l AF BT 81

\ "

e the corl

QID : 113 - A series is given wi ternative from the given ones that will complete the series.

Tuesday, Thursday, Saturday, ?

e SR e e 8, e @ e ue g 8l AT ST TR Bl T R

HAAR, JEefaR, AMaR, 2

Options:

1; Monday

2) Sunday
KECIN

3) Tuesday
EUCCIN

4) Thursday
Correct Answer: Monday

Candidate Answer: Tuesday
AR

QID : 114 - Ramesh, Kamal, Mohit, Amit and Rohit are standing in a row in the order of their heights. Ramesh is shorter than Kamal but taller than Rohit. Mohit is the
tallest. Amit is a little shorter than Kamal but little taller than Ramesh. Who is the shortest?

A1, o, Aifea, Siffid ofk Afea owag & v & @R €1 A, A  Bter @ foneg AR @ orva 81 FifR T ora &1 oifa, met @ ofter Sier 8, fohg 1 & oiter o 81 9 |ter
FTE?



Options:
1) Amit
Sifag

2) Mohit
g
3) Rohit
Afga

4) Kamal
hHT

Correct Answer: Rohit

Candidate Answer: Rohit

QID : 115 - Arrange the given words in the sequence in which they occur in the dictionary.

i. Pitiful

ii. Plague
iii. Pitiless
iv. Plaque
v. Plankton

frfoaa sreal ot eregRier & o aTet o7 & SIgER o |

i. Pitiful

ii. Plague

iii. Pitiless

iv. Plaque

v. Plankton

Options: i )

1) iii, i, ii, v, iv

2) i, iii, iv, v, ii {

3) i, iii, ii, iv, v {\

4) i, iii, ii, v, iv p | .
)

Correct Answer: i, iii, ii, v, iv / A
Candidate Answer: i, ii, ii, v, iv {

QID : 116 - In a certain code language, "DISORDER" is written as "OSIDREDR". How is "PRACTICE" writt\e}'q that.code language?
ot faftre el o & "DISORDER" @t "OSIDREDR" foraT ST &1 39 whis 9o § "PRAGTICE! ab’rémuam %?Gnqm ?

Options:
1) CARPECIT

2) CAREPCIT
3) CARTICE

4) CARECEIT
Correct Answer: CARPECIT
Candidate Answer: CARPECIT

QID:117 -

In the following question, sel rom the given series.

Options:
1)35

2) 45
3)25

4) 50
Correct Answer: 45
Candidate Answer: 45

QID : 118 - Identify the correct combination of mathematical signs to replace "*" sign in the given equation and balance the equation.
14*6*3*5*4*20
e weftereor § @ "+ & g ot ge ok Tefiaor ot wgfora s & forg niftrcftar Regl & wgt Tater ot ugar |

14*6%3%5%4%20



Options:
1N+,+,x,-,

Correct Answer: +,+,x, -, =
Candidate Answer: +,+,x, -, =

QID : 119 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
ab_ _abbc_aa_bbb
frfafaa us & s1eri o1 = 91 Tg @ref W IR AR T @ & TS S8R STl Y T HAM?

ab_ _abbc_aa_bbb
Options:

1) cacb

2) cacc

3) cabc

4) caca

Correct Answer: caca

Candidate Answer: caca

QID : 120 - Vijendra walks to his south-east side for 10 km. From there he turns 90 degree anti-clockwise and walks 10km and then he again turns 90 degree
clockwise and travels 10 km. In which direction is he from his original position?

forste arom faror-gd Ram &t ofik 10 .. Teren 81 a5t @ a5 =<t &t Rfoda feam # 90 ferft e 10 fohoft. T g, Wﬁﬁa’a’ﬂ@@f%&ﬂﬁQO%ﬁﬁ%ﬂﬂWﬁﬁlﬁ ECCIEKCH
S AR fdes W 8 fohe fRam A § 2

Options:
1) South
gfgyor

2) North
IR

3) East

4) South-east
gfeyor

Correct Answer: South-east

Candidate Answer: South-east

QID: 121 -
A word is represented by only one set of numbers as given in any

of the alternatives. The sets of numbers given in the altern,
represented by two classes of alphabets as shown,in the
matrices. The columns and rows of Matrix-1 are

4 and that of Matrix-Il are numbered from5to 9.

matrices can be represented firs
for example, ‘C" can be r
represented by 75,98, ete.
the word ‘LUNCH".

T U6 Had Ud GOl 95E gkl
us | fearmn § | el | e |

1Y g, WiTics fGUig Gl sl H S | ‘ ‘
%4%33?3{%«3%15%9@?&116@ B Ugd I9®! ufad
AR T8 H W T gRI a2l ol Sl ¢l SegRU & [ ol 21, 43,
21fe; R gl S GobdT § qUIU‘E 75, 98, 3111 GRT G=TaT < Ghar g |
T g ¥ Sl Uy H 3T TeaLuncH & 1T THg &1 JgamT gl

Matrix-1 Matrix-1l
3TgE - | STegg - I
0111213 |4 516 |7 (819
0O |H|L [M|O]|C 51/BJU|[S |G|N
1|1C|M|O|L |H 6 |S|B|U|N|G
2IMIC|L|H|M 71U|S IN|B |G
3|O/H|C|M|O 8|GIN|IB|S|U
4 |L |O|H|C|L 9 IN|S |G|U|B

Options:
1) 40, 56, 68, 21, 31

2)01,67,95,11,23
3) 22,75, 86,03,24

4)32,98,77,43,14



Correct Answer: 40, 56, 68, 21, 31
Candidate Answer: 40, 56, 68, 21, 31

QID : 122 - Pointing towards a lady in a photograph, Sushma says, "She is the mother of my grandfather's son". How is Sushma related to the lady in the picture?

Teh TSIt & Yok ATl Y 3R Tehel ohed g, GUAT gl 8, "8, AR aTal & 9 oY Af 8" Yo, SR areft Afger & St wsifa & 2

Options:
1) Grand daughter
it

2) Mother-in-law
SIS

3) Sister

g

4) Mother

|t

Correct Answer: Grand daughter

Candidate Answer: Grand daughter

QID: 123 -
If a mirror is placed on the line MN, then which of the answer figures is
the right image of the given figure?

gf Ueh GUUT Bl Mn T IR 3@T 1L, Tl & 718 TR il § 9 o1 9

TSI A NPT B Tel Wiaraws gri ?
“%
o] &
E < g
Options:
1) -~
2)
) %
3)
% D
4)
% EI
Correct Answer:
O

o>

Candidate Answer:

O

QID : 124 - Identify the diagram that best represents the relationship among the given classes.
Keyboard, Mouse, Input Device, Output Device, Computer
I8 3@ gAY, St A g 1y anif & i & deier o1 T fAeTor a1
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Correct Answer:

@o

Candidate Answer:
@E

QID:125-
A piece of paper is folded and punched as shown below in the ques-
tion figures. From the given answer figures, indicate how it will appe:
when opened.

@)

]

w
~

&

'S
=

Q|0
[/



Correct Answer:

O|0
OO

Candidate Answer:

O[O0
O[O

QID : 126 - Churches and Convents of Goa were built by?

Options:
1) British
3T

2) Dutch
e

3) Portuguese

4) Mughals
e

Correct Answer: Portuguese

Candidate Answer: Portuguese

QID : 127 - Resul Pookutty won Oscars for the movie "Slumdog Millionaire" in the category of

G gEE! A fhew wret ffermer fr ____ Soft & sifeenz Sftar o
Options:

1) Best Sound Mixing

gaIs ards AfRm

2) Best Original Score

TI9s Hifcis @R

3) Best Original Song

IS Hiferes =T

4) Best Foreign Language Film
Fars feft e et

Correct Answer: Best Sound Mixing
gd9s g fAfR
Candidate Answer: Best Sound Mixing

Fd9s Ards ffRi

QID : 128 - How many chromosome.

ek AT hifRAeRT H foha TURg
Options:

16

2) 26

3) 46

4) 66
Correct Answer: 46
Candidate Answer: 6

QID : 129 - In a Punnett Square with the cross AaBb x Aabb, how many AaBb genotypes would be created?

YAe TR # whid AaBb x Aabb & @1y, foha=r AaBb Sfitersy ai?
Options:

14

2)1

3)7

46

Correct Answer: 4

Candidate Answer: 4

QID : 130 - Arboreal Ateles is the scientific name of .

ITRTd geford _____ o1 dsfAes A\ &1



Options:
1) Squirrel

2) Sparrow
Rar

3) Lizard
fouerett

4) Spider monkey
Ahe! dex

Correct Answer: Spider monkey
ARl de

Candidate Answer: Spider monkey
ARl dex

QID : 131 - The chemical formula of Ammoniais _____.

g T IEENE G R

Options:
1) NH

2) NH4
3) NH,

4) NH3
Correct Answer: NH3
Candidate Answer: [ NOT ANSWERED |

QID : 132 - Who discovered Fullerene (an allotrope of carbon)?

eI (STl ol Geh %) ht @it fohae <t off?

Options: )

1) K Scheele /

&. e { A
2) Richard Smalley { }
Ra @t ‘\ 4
3) Faraday y o

RIS \ ?{ \

4) Heisenberg § 3

grotanf 7

Correct Answer: Richard Smalley

£
s weft
Candidate Answer: [ NOT ANSWERED |
QID:133- perform Internet Protocol blocking to protect ne un zed access.

G ST Aeah FIEaTdFEA F g dee
Options: )
1) Firewalls y
GRRArd

2) Proxy Servers
EICHIRICH

3) Routers
JIeH
4)volP
A,

Correct Answer: Firewalls
aprcic)

Candidate Answer: Firewalls
HRRATA

QID : 134 - Gugga Naumi is a religious festival in connection with snake-worship. This festival is of which state?

T gt 99 geT § e Tes annfifen Icua §1 98 Sa fohe wrsw § HATT ST 87
Options:

1) Haryana

ghamom

2) West Bengal
TS
3) Gujarat

ToRTd
4) Maharashtra
HERTE

Correct Answer: Haryana

Candidate Answer: West Bengal
TS

QID : 135 - If quantity of a good demanded increases from 200 to 250 then the average income of the population increases from Rs 20,000 to Rs 30,000, find Arc
Income elasticity of demand?

T fopeft axg Y #iwT &t 71 AT 200 T g AR 250 B ST 8,99 TG Sl 3 3 20,000 F @ §¢ 30,000 ¥ & ST &, aY T Al A9 ST A Rl A1 AR



Options:

1)1.45

2) 0.55

3)2

4)1.25

Correct Answer: 0.55

Candidate Answer: 0.55

QID : 136 - Match the characteristics with their market structure:
(a) demand will tend to be inelastic
(b) Firm has control over quantity of output but it must take into account reactions of competitors

ATt o1 ITehT AR TR & A1 fAe &R

(a) =T R g STt

(b) T a1 ITE I AMEAT R 01 8T 8, Afh 58 ufaifiat &t ufafeharsst et eam & w@=n =gy
Options:

1) (a) Pure Monopoly, (b) Oligopoly

(a) fagg TR, (b) SreaTfieR

2) (a) Pure Monopoly, (b) Monopolistic Competition
(a) ST TR, (b) GarTfArehR Hfaifirar

3) (a) Pure Competition, (b) Oligopoly

(a) fareg ufaifira, (b) sreaTfrer

4) (a) Monopolistic Competition, (b) Pure Competition
(a) TenTfeRR wfaRitfiran, (b) fasrg ufeafiar

Correct Answer: (a) Pure Monopoly, (b) Oligopoly

(a) R[5 TSR, (b) SreaTfeR

Candidate Answer: (a) Pure Competition, (b) Oligopoly
(a) fargeg ufaifiaT, (b) sreaTfeR

QID : 137 - Which type of pathogen causes the water-borne disease Salmonellosis? £

R IR AT AITU] et Sife TRt Tt et RISt ol SR &7

Options: y
1) Algal £ N
Sarefia ] 3

2) Parasitic 1 7

3) Bacterial < 4 \
SR i 3

0‘9

4) Viral
R

Correct Answer: Bacterial

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - Which of the following is not a Halon gas ?

frafafea & @ &= ff g g 19 ot 82

Options:
1) methane

2) Carbon tetra chloride
3) iodomethane
Elucribes

4) bromomethane
Correct Answer: methane
Candidate Answer: [ NOT ANSWERED |

QID : 139 - Dnyaneshwar was a 13th-century Marathi saint who wrote the Dnyaneshwari, which is a commentary on the

FMER Redl AT & U BRI I & gl g ot off, s o a8

Options:
1) Ramayana
JHIOT

2) Bhagavad Gita
EuCoRic)]

3) Vedas

¥

4) Upanishads
Iufsg

Correct Answer: Bhagavad Gita
ITad Tiar

Candidate Answer: Bhagavad Gita
g Tt

QID : 140 - Earth is the

FiGIE R E—

planet from the Sun.




Options:
1) First
ugel

2) Third
e

3) Fifth
!

4) Seventh

graar

Correct Answer: Third

Candidate Answer: Third
Giksal

QID : 141 - Which city is located on the banks of the river Godavari?

MeTest &l & de IR i 97 AR fR/T 82

Options:

1) Badrinath
AT

2) Nashik
ElnCH

3) Mathura
"L

4) Lucknow
TAGTSH

Correct Answer: Nashik

Candidate Answer: Badrinath

FEATT

"etehd (= 290-305 3. & v fowan o) v amaTsy oAt e om?

Options:

1) Gupta Dynasty
RSESIIEE

2) Kanva Dynasty
hUd JiEITsg

3) Shunga Dynasty
T IS

4) Maurya Dynasty
Rt gy

Correct Answer: Gupta Dynasty
T qrrsa

Candidate Answer: Maurya Dynasty
o wrTSy

{/
QID : 142 - Ghatotkacha (who ruled in the years 290-305 B.C.) was a king from which dynasty? i\\

\

)

QID : 143 - Who are credited to a lar

IR F T AT R @A He Gl
Options:

1) Mauryas

=Rt

2) Cholas

4

3) Guptas
I

4) Marathas
RIS

Correct Answer: Marathas
ST

Candidate Answer: Marathas
HIST

QID : 144 - Who Invented postage stamp?

1ok fedhe a1 s fohe fomar?
Options:

1) Ruth Handler

s B

2) John Harington

S gRme

3) Rowland Hill

Afs feer

4) Felix Hoffmann
Correct Answer: Rowland Hill

Candidate Answer: Felix Hoffmann



QID : 145 - If a body moves with a uniform speed in a circular motion, then .

Ife Y T Ueh gt A A U FAF AT A TS G g A |
Options:

1) its acceleration is increasing

ST RO FodT BT &

2) its acceleration is zero

SR RO I AT B

3) its velocity is changing

SR AT TeeldT g g

4) its velocity is uniform

SYhT A7 Ueh IH BT 81

Correct Answer: its velocity is changing
ST AT AT B Bl

Candidate Answer: its acceleration is zero
ST RO I EAT 8

QID: 146 - _____is the fourth state of matter.

uaref & At SR gl
Options:
1) Plasma
ATSHT
2) Steam
Y
3) Gas
i

4) Matteroid

AREs

Correct Answer: Plasma £

AT £
3

Candidate Answer: Plasma
ATSHT / .

<

3

H
7
£

£ $
QID : 147 - The original constitution of India was published in? g }
N £

TR T G AT gt HemfRrd o mar ar? y N

Options: \
1) Delhi

fReeett

z%qs_rlllnagar

3) Ajmer
ISR

4) Dehradun
Correct Answer: Dehradun

Candidate Answer: Delhi

QID : 148 - Article 228 of the Indian

TR AT 1 ST 228 '$e Al
Options:

1) the directive principles of state policy
I Aif & FEf fRgia

2) the State Government

g TIHR

3) the Union Government

e THER

4) the fundamental rights of the Indian Citizen

AR AR & Hiferds iR

Correct Answer: the State Government
oY IhR

Candidate Answer: the State Government
I IRR

QID : 149 - Who won the 2016 National Snooker Championship?

7 2016 & Tt TR AR R s

Options:

1) Mohit Saraswat
Tifga arREa

2) Aditya Mehta
anfeea Agar

3) Arjun Pandit
319 ufed

4) Varun Shakya
30T M

Correct Answer: Aditya Mehta
e Agar



Candidate Answer: Aditya Mehta
anfee Agar

QID : 150 - Who is the author of "l Too Had a Love Story"?

"31TE T 8 U 7d R T AW i &7

Options:
1) Preeti Shenoy
it

2) Ravinder Singh
NECSARE

3) Keshav Aneel

P

4) Durjoy Datta

ot &=

Correct Answer: Ravinder Singh

fdez i

Candidate Answer: Preeti Shenoy
i)

QID : 151 - Which of the following is correct?

= & @ ol T wgt @7
Options:
1) (3 + 4y)(4x - 3y) = 12x2 + 7xy - 12y2 ;/
2) (3x + dy)(4x - 3y) = 12x2 + 25Txy - 12y2 i
3) (3x + 4y)(4x - 3y) = 12x2 - 7xy + 12y2 £ R
4) (3x + 4y)(4x - 3y) = 12x2 - 251xy + 12y2 § }
Correct Answer: (3x + 4y)(4x - 3y) = 12x2 + 7xy - 12y? P N /
Candidate Answer: [ NOT ANSWERED ] {’ \}
QID : 152 - What is the value of (81 + 82 + 83 + ......... +130)? ) \\ y
/ W

(81 +82+83+........ +130) &I | T &2 i A

3 3
Options: ) /
1) 5275
2) 10550
3) 15825
4) 21100
Correct Answer: 5275
Candidate Answer: 15825
QID : 153 - The sum of the ages of husband and wife at pre 1 ago the ratio of their ages was 9:7. What is the age of the husband?

g § ufa ofR ueht fHr sm et

Options:
1) 45 years
4599

-7 o1 ufa i 37 @ g7

2) 55 years
55 aef

3) 65 years
65 ay
4) 40 years
40 a9

Correct Answer: 55 years
55 af

Candidate Answer: 65 years
65 ay

QID: 154 -If 3x- 1 < 5x + 2 and 3x + 5 < 6 - 4x; then x can take which of the following values?

Tfe 3x - 1< 5x + 2 3fR 3x + 5 < 6 - 4x; ol x Aw7 & @ fohg O &l & Tepar 82

Options:
1)-1

2)1

3)2

4)-2

Correct Answer: -1

Candidate Answer: [ NOT ANSWERED |

QID : 155 - In an arithmetic progression if 13 is the 3rd term, -47 is the 13th term, then -17 is which term?

e iR 2oft A, afe 13 frug 8, -47 Reaiug §, t -17 A a1 ug &2



Options:
19

2)10
3)7

4)8
Correct Answer: 8
Candidate Answer: [ NOT ANSWERED |

QID : 156 - Among three numbers, the first is twice the second and thrice the third. If the average of three numbers is 506, then what is the difference between the first
and the third number?

fi= deemait & ote #, ugel TRer gust A & QT ofR dtert e & fiF T 81 aft 39 i dwemnstt @ sited 506 2, o uge ofR e s & ot o sfar 87

Options:
1) 759

2) 585
3) 755

4) 552
Correct Answer: 552
Candidate Answer: [ NOT ANSWERED |

QID : 157 - What is the distance between the points (4,-8) and (-2,0)?

155 (4, -8) 3R (-2,0) & o= & g 719 e
Options: /
1) 100 units y
100 gfe ]
2) 5 units 3 4
5gf1e 4

3) 25 units £ \

25 gfe i 3

4) 10 units E y

10 gfe .

Correct Answer: 10 units £
10gfe i
Candidate Answer: 10 units
10 gfe

QID : 158 - For triangle PQR, find equation of altitude PS if co-ordinates of P, ,3) and (-4,5) respectively?

A
et PQR & forg, afg P, Q sl R & fdsres shmsr: (6,2), (0, 3) 3R (-4,5) &,
Options:
1)2x-y=14
2)2x+y=10
3)2x-y=10
4)2x+y=14
Correct Answer: 2x-y =10
Candidate Answer: [ NOT ANSWER|

QID : 159 - In APQR, S and T are points on ly. ST is parallel to QR. If S divides PQ in the ratio 4:3 and length of QR is 4.9 cm, find ST?

APQR, S 3R T rH2n: o<1 PQ SR PR W & 1af& S PQ @t 4:3 & Srgurd # faen1forg ohxeft & 8k QR &t farrg 4.9 @.f). §, A ST &l F/a &2

Options:
1)5.6cm
5.6 @1

2)7.2cm
7.225H.

3)2.8cm
2.8 9.

4)3.6cm
3.69.

Correct Answer: 2.8 cm
2.8 d.4t.

Candidate Answer: [ NOT ANSWERED |

QID : 160 - Makarand works 2 times as fast as Samarjit. If Samarjit can complete a job alone in 27 days, then in how many days can they together finish the job?

TS GASHA F 2 T[T ST I el 5| T TR 31chet Geh i 27 o H i ahe HendT &, I foham A & &Y <1 o qR1 o @R 87
Options:

1) 6 days

6 fet

2) 7 days
7R
3) 5days
5fA

4) 9 days
9fe=

Correct Answer: 9 days
9feT



Candidate Answer: 7 days
7

QID : 161 - The ratio of present ages of Ramya and Saurabh is 8:7. After 10 years the ratio of their ages will be 12:11. What is Ramya's present age?

71 3R TR T I ST T SIUTT 8:7 &1 10 INT &1G IThT ST T SIUTT 12:11 1T I 3T hl FerAT Sy foharft 82

Options:
1) 20

2)14
3)63

4) 45
Correct Answer: 20
Candidate Answer: 63

QID : 162 - Simple interest on a certain sum of money for 3 years at 16% per annum is half the compound interest on Rs. 12000 for 2 years at 10% per annum. The
sum placed on simple interest is

16% a1ficr &= & 3 T & forg ger i i o wreRor samst 10% arfties X & 2 aut & fog 12000 & i A UR Tehgfcg =aTsT & e § 1 QIR arel R & 18 (A 1
Options:

1) Rs 5250

5250%

2) Rs 1325

1325%

3) Rs 2100

2100%

4) Rs 2625

2625% /
Correct Answer: Rs 2625 ;
2625%

Candidate Answer: [ NOT ANSWERED | \

QID : 163 - What is the altitude of an equilateral triangle whose side is 12v3 cm? E i

ok THYST ST Y s T & forerehY oo 12v3 At &2 4
Options: {
1)12cm
1281

2) (15v3)/2cm
(15v3)/2 @1,
3) (9v3)/2cm
(9v3)/2 &
4)18cm
1831

Correct Answer: 18 cm
18 a1t

Candidate Answer: [ NOT ANSWERED |

QID : 164 - An engineering stude
e ol o1t I<hof 814 & ferg 2

Options:
1) 385 marks
385 3ich
2) 360 marks
360 3ich
3) 410 marks
410 3ich
4) 435 marks
435 3ich

Correct Answer: 360 marks
360 3ich

Candidate Answer: 360 marks
360 3ich

s to pass.

56 3ieh fieTd § ok a5 34 Sfel & Srgitof 8 ST 81 39 wRier o Stfdend sieh foham gi?

ets 56 and fails by 34 marks. Find the maximum marks.

QID : 165 - 30% discount is offered on an item. By applying a promo code the customer wins 20% cash back. What is the effective discount?

Teh %] TR 30% BT <l URTEhST &1 715 &1 Geh UIHT ehiS AT ahech UTeeh 20% e aTad il | IHeh! it HeTelt ge o1 62

Options:

1) 44 percent
44 gfasra

2) 52.8 percent
52.8 ufaga

3) 50 percent
50 ufasra

4) 26 percent
26 ufasra

Correct Answer: 44 percent
44 gfaea

Candidate Answer: 50 percent
50 afsrT



QID : 166 - If curved surface area of a cylinder is 1320 sq cm and height is 10 cm, find its radius?

I, el SeTeRR ag & Tk Tdg T et 1320 arf T, o s 10 .. &, ot STh! B 7/ |
Options:

1)21cm

21 3.+

2) 42 cm

423+

3) 63 cm

63 4.1

4) 10.5cm

10.5 3.5,

Correct Answer: 21 cm
21 3.4,

Candidate Answer: 63 cm
63 Q..

QID : 167 - A wholesaler sells a watch to a retailer at a gain of 35% and the retailer sells it to a customer at a loss of 25%. If the customer pays Rs 2379.375, what had
it cost the wholesaler?

ek Uieh TR} Tk GarT AT ot Yok TSt 35% 197 & A1 991 3T & SR YT AT I UTEh i 25% g1 & W1y = &ar 81 3fS Argeh 3 2379.375 T ol ST el &, dl 2t
AR} Y ARt e off?

Options:

1) Rs 2350

2350%

2) Rs 2409

2409 %

3) Rs 2928

2928 % 4
4) Rs 2291 H
2291% 3
Correct Answer: Rs 2350
2350% 4 <

Candidate Answer: [ NOT ANSWERED ] 3 i

QID : 168 - What is the value of tan 71/4?

tan 71/4 &1 A &1 8?

Options:

1)v3

2)-1/2

3)v3/2

4) -1

Correct Answer: -1

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - A man travels 401 kilometres in, partly by rail an
and the velocity of rail is 56 km/hr, how d er?

ek SreHt 401 foR. A, &t amm AT &1 I8 TEIST W 6 °e 31fdeh Try @ el 8| afe STgret ot iy 21 fop.#ft. /et & ok et &t
T 56 foh.#h./eer &, 9t a8 StETS &
Options:

1) 241 km

241 5 .

2) 302 km
302 for. .

3) 201 km
201 fr .

4) 362 km
362 for .

Correct Answer: 201 km
201 fo. .

Candidate Answer: [ NOT ANSWERED ]

spends 6 hours more time on steamer. If the velocity of the steamer is 21 km/hr

QID : 170 - 2sin[(C+D)/2].cos[(C-D)/2] is equal to

2sin[(C+D)/2].cos[(C-D)/2] foherds s=rer 8?2
Options:

1) sinC - sinD

2) cosC + cosD

3) cosC - cosD

4) sinC + sinD

Correct Answer: sinC + sinD
Candidate Answer: [ NOT ANSWERED ]

QID:171- tanAcosec?A is equal to

tanAcosec?A fradh aRTeR 22



Options:

1) (1 + tanZA)cotA

2) (1 -tanZA)cotA

3) V[(1 + tanZA)cotAl

4) V[(1 - tan?A)cotA]

Correct Answer: (1 + tanZA)cotA
Candidate Answer: [ NOT ANSWERED |

QID:172-
Refer the below data table and answer the following Question.

7= f2d o e Tt & omnyR W FeffEa ny s 2

Quantity of stock | Average Cost (Rs)

wih B AE | {Ed 9 (F9Y)
Mobile Phones / FﬁEﬂEﬂ B 100 18000
Cameras / $O] 87 6000
TVs / &t 80 56000
Refrigerators / ¥fipeldet 38 28000
ACs / 93 25000

What is the value of the total stock (in lakh rupees)?

Fd i 1 ged (ard =at ) fsa g2

Options:
1) 101.91

2)1019.1
3)133

4) 398
Correct Answer: 101.91
Candidate Answer: 101.91

QID:173-
Refer the below data table and answer the following Question

3= 28 o o ot # omaR R FeifEa sy s o= 2

Ratio Import/Export

If the imports in 2012 was Rs. 600 crores and the total exports in the
years 2012 and 2013 together was Rs. 4000 crores, then the imports in
2013 was?

i 2012 H 3TA 600 HUS U YT AR 8 2012 3 2013 § T WY Fed
a1 4000 BRI U1, T 2013 # 2T S5 ur?

Options:
1) 600

2) 3400
3) 5100

4) 2267
Correct Answer: 5100
Candidate Answer: 2267



QID:174 -
Refer the below data table and answer the following Question.

=7 2 o Ea it & omnyR W ey s 2

Measured on Birthday | Height of the child {in cms)
SHEARAN T | 9 B $IE (@ )
4 100
5 110
6 120
7 4 130
8 135
9 145
10 150
11 155
12 160
13 165
14 175
y .
15 185 { \\
190 i
16 g\\ }
What was the increase in the height of the child from the 5th Birthday 4 N
to the 16th Birthday? {, }
53 SR & A 163 S 0 9= & $ar F el 9T gge ) \ 4
Options: \§
1) 85cms 2
85 9.4, /
2) 90 cms
90 g+t
3) 75cms
75 3.5,
4) 80 cms
80 F.4.

Correct Answer: 80 cms
80 4.,

Candidate Answer: 80 cms

80 4.1,

QID:175-

Refer the below data table and a

i fgd 7y e aniael & SIHR 5
Deep Sleep /31631 =G H 5
Dreaming / mﬂ@%‘g’l& 30
Light sleep / gai®! Alg & 20
Extremely light sleep / agagaﬁ Fed| 10
Awake / STTd §U 35

Between 10pm to 6am, a fitness band records the following data. How
long was the user Dreaming or was Awake?

A & 10 Gof H AH G5 6 dul A U [he-d o3 (9 321 RE1S sl
2| 3THT IUGNTH] foha- THY ddb TUAT @ g1 YT 91 <17 38T UT?

Options:

1) 5.2 hours
5.2 €&

2) 4.7 hours
47w

3) 3.7 hours
379
4) 5.7 hours
5.7 €



Correct Answer: 5.2 hours
5.2 €&

Candidate Answer: 5.2 hours
5.24€¢

QID : 176 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The speed with which she typed the draft demonstrated that she is a secretary.
Options:

1) savvy

2) adapted

3) nimble

4) competent

Correct Answer: competent

Candidate Answer: savvy

QID : 177 - Select the antonym of

magnate

Options:

1) mogul

2) tycoon

3) aristocrat

4) nonentity

Correct Answer: nonentity

Candidate Answer: [ NOT ANSWERED |

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the‘correct alternative out of the four and indicate it
by selecting the appropriate option.

The current in global negotiations over climate change has stalled progress on the issue.
Options:

1) intransigence

2) fallacy

3) stalemate

4) rigidity

Correct Answer: stalemate

Candidate Answer: rigidity

QID : 179 - Rearrange the parts of the sentence in correct order.

India should not be in a hurry
P-to ratify the Agreement
Q-until there is clarity
R-on the U.S. position
Options:

1) QRP

2) PQR

3) RQP

4) QPR

Correct Answer: PQR
Candidate Answer: QRP

QID : 180 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Birds of a feather flock together

Options:

1) even a small similarity is enough to become friends and stay together
2) there is always more safety in a crowd

3) people with the same tastes and interests will be found together

4) people with bad intentions always form a gang

Correct Answer: people with the same tastes and interests will be found together
Candidate Answer: people with bad intentions always form a gang

QID : 181 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one, which best expresses the
same sentence in Passive/Active voice.

The management committee is required to publish a report every year.

Options:

1) A report would be published by the management committee every year.

2) A report would have been published by the management committee every year.
3) A report requires to be published by the management committee every year.

4) Every year the report would be published by the management committee.

Correct Answer: A report requires to be published by the management committee every year.
Candidate Answer: A report requires to be published by the management committee every year.

QID : 182 - Improve the bracketed part of the sentence.

Ramesh says, he has already repaid me but | can't recall, so I'll have (to take his word).



Options:

1) to take his word as true
2) to take him at his word
3) to take his for word for it
4) no improvement

Correct Answer: to take him at his word
Candidate Answer: no improvement

QID : 183 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

No students is(A)/as intelligent(B)/as Priya.(C)/No error(D)
Options:

Correct Answer: A
Candidate Answer: A

QID : 184 - Improve the bracketed part of the sentence.

The manager was highly upset because of (the inordinate delaying).
Options:

1) the inordinate delay

2) the inordinately delay

3) the inordinately delaying

4) no improvement

Correct Answer: the inordinate delay

Candidate Answer: the inordinate delay

QID : 185 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested; select the one, which best express
the same sentence in Indirect/Direct speech.

"Is anyone there?" Reema asked.

Options:

1) Reema asked if someone were there.

2) Reema asked whether anyone was being there.
3) Reema asked if anyone was there.

4) Reema asked if anyone was here.

Correct Answer: Reema asked if anyone was there.

Candidate Answer: Reema asked if anyone was there.

QID : 186 - Select the synonym of

to cite

Options:

1) to conceal

2) to ignore

3) to indicate

4) to deny

Correct Answer: to indicate

Candidate Answer: [ NOT ANSWER|

QID : 187 - In the following question, some
a sentence is free from error, select ‘No Error’.

have errors. Find out which part of the sentence has an error and select the appropriate option. If

Rehana had everything(A)/beauties, a good figure
Options:

1HA

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

a sweet personality.(C)/No issue(D)

QID : 188 - Select the word with the correct spelling.
Options:

1) vacuoles

2) skulcking

3) squodron

4) absenses

Correct Answer: vacuoles
Candidate Answer: absenses

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

a small mistake in an agreement or law that gives someone the chance to avoid having to do something
Options:

1) loophole

2) ruse

3) ploy

4) gambit

Correct Answer: loophole



Candidate Answer: loophole

QID : 190 - Select the word with the correct spelling.
Options:

1) etarnity

2) monition

3) advisary

4) gigantec

Correct Answer: monition

Candidate Answer: monition

QID : 191 - Select the antonym of

to abnegate

Options:

1) to eject

2) to evict

3) to admit

4) to bounce

Correct Answer: to admit

Candidate Answer: [ NOT ANSWERED |

QID : 192 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

having or showing an interest in learning things; curious.
Options:

1) probe

2) inquisitive

3) speculative

4) snoop

Correct Answer: inquisitive

Candidate Answer: snoop

QID : 193 - Select the synonym of

poise

Options:

1) tizzy

2) turmoil

3) agitate

4) elegance

Correct Answer: elegance

Candidate Answer: [ NOT ANSWERED |

QID : 194 - In the following question, out of the four alternatives, select the‘alternativeiwhich best expresses the meaning of the idiom/phrase.

Beggars can't be choosers

Options:

1) those who have nothing have no hope

2) all your options close when.yousré going through abad time

3) a poor person is forced to kill'all his desires

4) people with no other options must be content with what'is offered

Correct Answer: people with no other options must be content\with what is offered
Candidate Answer: all your options close when you are going through a bad time

QID : 195 - Rearrange the parts of the sentence in correct order

The party has not just
P-vacated space for other
Q-being steadily hollowed out ideologically
R-political parties, but it is also
Options:

1) PRQ

2) RQP

3) QPR

4) QRP

Correct Answer: PRQ
Candidate Answer: QRP

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Widespread liberalization of the economic regime was long overdue in 1991, and has played a positive role since, but its impact has
__ itscourseandthepolicyhasrecognisable . Liberalization cannot address all aspects of the man-made environment and now
climatechange______ to change everything forever. We do not have another quarter centurytodeal _________ these imperatives.

Widespread liberalization of the economic regime
Options:

1) manifesto

2) statement

3) plan

4) policy

Correct Answer: policy

Candidate Answer: policy



QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Widespread liberalization of theeconomic_____ regime was long overdue in 1991, and has played a positive role since, but its impact has
its course and the policy has recognisable . Liberalization cannot address all aspects of the man-made environment and now
climate change to change everything forever. We do not have another quarter century to deal these imperatives.
butitsimpacthas_____itscourse
Options:
1) run
2) ran
3) been running
4) had ran

Correct Answer: run
Candidate Answer: been running

QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Widespread liberalization of theeconomic____ regime was long overdue in 1991, and has played a positive role since, but its impact has
__ itscourseandthepolicyhasrecognisable____ _Liberalization cannot address all aspects of the man-made environment and now
climate change to change everything forever. We do not have another quarter century to deal these imperatives.

the policy has recognisable
Options:

1) limits

2) constraint

3) considerations

4) fault

Correct Answer: limits

Candidate Answer: considerations

QID : 199 - In the following passage, some of the words have been left out. Read the passage carefully and'select the correct @answer for the given blank out of the
four alternatives.

Widespread liberalization of the economic regime was long overdue in 1991, and has played a positive role since, but its impact has
_ itscourseandthepolicyhasrecognisable . Liberalization cannot address all aspects of the man-made environment and now
climate change to change everything forever. We do not have another quarter century to deal these imperatives.

now climatechange_____ to change everything forever.

Options:

1) were threatening

2) threatens

3) threatened

4) are threatening
Correct Answer: threatens
Candidate Answer: threatens

QID : 200 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Widespread liberalization of the economic regime was long overdue in 1991, and has played a positive role since, but its impact has
its course and the policy has recognisable . Liberalization cannot address all aspects of the man-made environment and now
climatechange_________ to change everything forever. We do not have another quarter centurytodeal __________ these imperatives.
We do not have another quarter century to deal these imperatives.
Options:
1) about
2) for
3) with
4) of

Correct Answer: with
Candidate Answer: with



